Full Results

The full design of this study was 2 (gain frame vs. loss frame) x 3 (“at least” vs. no modifier
vs. “exactly”). Here are the results for choice:

DOLoss Frame D Gain Frame

100%

Mandel (Study 2) Our Replication

L on| p
(3 (]
1™
£ 80%
-~
2 o
= 70%
: "
a
8 60% -I_
N

50%
Q 52%
= 40%
g 0% 74%
~N
2 30% 589 oo 51% 63%
8 20% 3% -

3% 0

5 10% a 4 M s
°\° (]

0%

"At Least"  No Modifier "Exactly" "At Least"  No Modifier "Exactly"

Note that if Mandel is right that those in the “no modifier” condition naturally interpret the
question as “at least,” then the “no modifier” condition should more closely resemble the “at
least” condition than the “exactly” condition. However, directionally the opposite is true in
both his study and in our replication.

The results for preference are similar:
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